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Note : (i) Answer questions from all Sections 

as per instructions. 

 (ii) Section A : Answer any two 

questions. 

 (iii) Section B : Answer any four 

questions. 

 (iv) Section C : Write short notes on any 

three. 
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 Section—A  

Note : Answer any two questions from this 

Section. 2×20=40 

1. (a) Explain short-run equilibrium under 

monopoly using MC and MR approach. 

10 

(b) “The shutdown point for a perfectly 

competiveness firm is different from 

this break-even point.” Explain using a 

diagram. 10   

2. (a) What is a minimum wage law ? Explain 

its implications on the labour market 

using a diagram. 10 
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(b) Explain why the demand for an input is 

a derived demand. How would a tax on 

land rent affect its demand and supply ? 

10 

3. (a) What are public goods ? Why is there a 

need for intervention of government for 

such goods ? 10 

(b) What is an economically efficient 

allocation from the point of view of 

Pareto ? Explain. 10 

4. (a) Discuss the implications of WTO 

agreements on India. 10 

(b) Throw some light on the structure of 

WTO and its dispute settlement 

mechanism.  10 
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Section—B 

Note : Answer any four questions from this 

Section. 4×12=48 

5. What is price discrimination under 

monopoly ? Explain three ways in which a 

firm practices price discrimination. 12 

6. What is asymmetric information ? How does 

it lead to market failure ? 12 

7. Explain the marginal productivity theory of 

factor pricing. 12 

8. Explain the concept of selling cost under 

monopolistic competition. Highlight the 

major differences between perfect 

competition and monopolist competition. 12 

9. Derive the demand for labour in a 

competitive market. How is value of 

marginal product and marginal revenue 

product relevant in labour demand ? 12 
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10. The following information is given by : 

C = 40 + Q2 

and          P = 40 – Q 

Find the profit maximizing levels of output 

and price.  12 

Section—C 

11. Write short notes on any three of the 

following :  3×4=12 

(i) Kinked demand curve under oligopoly 

(ii) Prisoner’s dilemma 

(iii) Deadweight loss in monopoly 

(iv) Public goods 

(v) Quasi-rent 
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 BECC–132 

dyk Lukrd (lkekU;)  

(ch- ,- th-) 

l=kar ijh{kk  

twu] 2025 

ch- bZ- lh- lh-&132 % O;f"V vFkZ'kkL=  

ds fl¼kUrµII 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) lHkh Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A 

 (ii) Hkkx ^d* % fdUgha nks iz'uksa ds mÙkj nhft,A 

 (iii) Hkkx ^[k* % fdUgha pkj iz'uksa ds mÙkj nhft,A 

 (iv) Hkkx ^x* % fdUgha rhu ij laf{kIr fVIif.k;k¡ 

fyf[k,A 
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 Hkkxµd  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj fyf[k,A 2”20=40 

1- (d) MC ,oa MR fof/k dk iz;ksx dj ,dkf/kdkj esa 

vYidkfyd lkE; dks le>kb,A 10 

([k) ß,d iw.kZ izfr;ksxh QeZ ds fy, dkecanh fcUnq mlds 

vFkZ&{ke fcUnq ls fHkUu gksrk gSAÞ fp= }kjk 

le>kb,A 10 

2- (d) ,d U;wure osru dkuwu D;k gksrk gS \ ,d fp= 

}kjk Je cktkj ij blds fufgrkFkks± dh O;k[;k 

dhft,A  10 

([k) le>kb, fd fdlh vknku dh ek¡x ,d O;qRiUu ek¡x 

D;ksa gksrh gSA Hkwfe ij yxku ij dj ls mldh ek¡x 

vkSj vkiwfrZ fdl izdkj izHkkfor gksxh \ 10 

3- (d) lkoZtfud inkFkZ D;k gSa \ ,sls inkFkks± ds fy, 

ljdkjh gLr{ksi D;ksa vko';d gksrk gS \ 10 
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([k) iSjsVks dh n`f"V ls ,d vk£Fkd :i ls n{k vkcaVu 

D;k gksrk gS \ le>kb,A 10 

4- (d) fo'o O;kikj laxBu (WTO) ds le>kSrksa ds Hkkjr 

ij iM+us okys izHkkoksa ij ppkZ dhft,A 10 

([k) WTO dh lajpuk vkSj mldh fookn funku izfØ;k 

ij izdk'k Mkfy,A 10 

Hkkxµ[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj nhft,A 4”12=48 

5- ,dkf/kdkj esa dher foHksnu D;k gksrk gS \ os rhu fof/k;k¡ 

crkb, ftuds vuqlkj QeZ ;g dher foHksnu dj  

ikrh gSA   12 

6- vlefer lwpuk D;k gS \ ;g fdl izdkj cktkj dh 

foQyrk dk dkj.k cu tkrh gS \ 12 
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7- lk/ku dher fu/kkZj.k ds lhekar mRiknrk dk fl¼kUr dks 

le>kb,A   12 

8- ,dkf/kdkjh Li/kkZ esa foØ; ykxr dh ladYiuk dh 

O;k[;k dhft,A iw.kZ Li/kkZ vkSj ,dkf/kdkjh Li/kkZ ds chp 

eq[; vUrjksa ij izdk'k Mkfy,A 12 

9- ,d LIk/khZ cktkj eas Je dk ek¡x oØ O;qRiUu  

dhft,A lhekUr mRikn ewY; vkSj lhekar  

vkxe ewY; fdl izdkj Je dh ek¡x esa lkFkZd  

gksrs gSa \   12 

10- fuEufyf[kr tkudkjh nh xbZ gS % 

C = 40 + Q2 

rFkk          P = 40 – Q 

mRiknu vkSj dher ds vf/kdre ykHk Lrjksa dk vkdyu 

dhft,A   12 

Hkkxµx 

11- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ fyf[k, % 

3×4=12 

(i) vYikf/kdkj ds varxZr fodqafpr (Kinked) ek¡x 

oØ 



 [ 10 ]  BECC–132 

B–1540/BECC–132 

(ii) cUnh dh nqfo/kk 

(iii) ,dkf/kdkj esa furkUr gkfu 

(iv) lkoZtfud inkFkZ 

(v) vkHkklh yxku 

× × × × × 

 

 

 

 

 

 

 

 

 


